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Introduction to 'nn 2% mv v g

The A1 commands us (see v1 below) to “take for yourselves”, on the first day of m10, the four species. Our chapter presents
the various laws of validity of each of the four ps» and general invalidating considerations (e.g. wa> and 5. After having
presented the parameters of mw3 of each of the four, the 79 then focuses on the fulfillment of the m1xp.

6.3.1; 29b (& mwn) 2> 31a (725 177 RIyw11 NONS 203 RI2YDP)

Note: as per v. 1, the only command 77107 79 affecting those outside of the w1pp vis-a-vis the o’»p “Tis on the first day;
due the consideration of "35% all four pr2m must be owned by the one fulfilling the myn. In the aftermath of ran 131,
277 ordained that we all take 2515 for all 7 days — but there is no requirement of “p25”after the first day(s).

£,27 8777 1002 NYAY DPTOR ‘N 9% DRNYI YN) 727P) NIAY PY 1Y) DINN NAD N1 Y 119 1IWRI) D12 DY Dnnpn
2,80o850 T1 IR DITN ANIR DYIRD ININD DR DDRIN NZIND NR) NN NRY 9313 DNRIN NIRIY ‘N IR INIR DANAN) IRINN NI DNIARY

2,5 ¥777: 021277 DR ITIPH IRED 1Y IR0 10 NONID 10 N7 1270 DA 12 03 DTR DNYR DINRY YRIY? 111 YR 137
7,40 pw: 0N NIIIR D2IY M121 NRRI DNYYI 'NNI NPI1YA Y13 RIY VAYN 20K N NN D

L. x mwn: Parameters of validity for a9
a.  Essential invalidity: stolen or withered
b.  Theoretical nonexistence: if coming from nPWR tree or nnTn 1Y (since it must be destroyed — 1y gone)
c.  Local issues: if the top was cut off or the leaves fell off — invalid
i. However: if the leaves fanned out — valid
ii. /7’1 in that case, he must bind them together on top
d. Alternate species: 91120 77 '»x (other kind of palm) are valid
e. 7w anY must be 3 nav tall - enough to shake it
II. Revisiting the opening invalidaty — 51
a.  Observation: v unqualified — both w1’ and Y1 are invalid all days (not just 15t day)
i. Understood: why w2 is invalid all 7 days — lacks 970 (v. 1)
ii. However: 9 should be valid after 1¢t day, when n3% no longer applies
b. Answer (»7aw7 pwa janr 79): due to N77aYa NRAN MXN
i. Background: in v. 2, %2890 equates noa:mm
1. Just as: noa cannot be repaired
2. Similarly: Y7 cannot be repaired — even after vIr», invalid as a 129p
3. Question: before vir», invalidity for 1279 understood (due to v. 3 — nan)
4.  However: after v1x», should be valid — as it belongs to donor
a.  Rather: it must be invalid due to n7aya nRan mxn
5. Explanation: based on v. 4 —'n teaches us to reject N1 by rejecting it Himself
ii. Support: 'nR 7 taught this way as well
iii. Contra: YR1nwwho limited invalidity of %1 to 1%t day due to a failure of "n3%”
1. Argument: since one can fulfill obligation with borrowed 155, may also use "1
2. Challenge (279): implication of our mwn is that »Rw is valid >must be after 1%t day
a.  Defense (¥37): mwn is in re 1 day; 91Rw is more obviously invalid
i.  However: R"10 that in case of 51, he acquired through vir> —9"np
c.  Advice: 0" instructed Jews who buy o070 from non-Jews to have the 11 cut them
i. Reason: assumption that the land is stolen — but nbm nrR YpPIp
ii. Therefore: have them cut them, so that the w18» happens in their possession
1. And then: mw1 "mw when it goes to Jewish buyers
2. Challenge: why can’t mw1 "W happen when they sell it to end-user?
a. Answer: the buyer might be the end-user himself
3. Challenge: why aren’t the buyers nnp via nwyn "mv (TR)?
a. Answerl: we hold TR 7% PR 299 (218 inessential >not reckoned as nwyn)
b.  Answer2: even if Tar 77 259, this is a change that reverts — not nnp
4. Challenge: why not acquire via nwn 1w (was “Rox”, now called “Riywin”)?
a. Answer: they sometimes call it R1p¥1n even before cutting off branch
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